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Defence and Strategic Studies

Paper 1II

TeT Ud AMHReh 31T
gyuttent II

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U TR Wl U dredl

AT ¢ A YIAehd THUT WM (100) sgUar 799 fooel ofed. Ucieh Ueeren g (2)

Who has given famous slogan “I'm
first Indian and last Indian” ?
(A) M. Gandhi

(B) Indira Gandhi

(C) Dr. Babasaheb Ambedkar

(D) Sardar Vallabhbhai Patel

Which one of the following North-

East states of India is surrounded

by Bangladesh from three sides ?

(A) Tripura

(B) Meghalaya

(C) Assam

(D) Arunachal Pradesh

Which one of the following thinkers

is associated with the balance of

power theory ?

(A) Henry Kissinger

(B) Hans Morgenthau

(C) Kenneth Waltz

(D) Inis Claude

C-130d is :

(A) Super Hercules is a four-engine
turboprop military transport
aircraft

(B) Jet fighter

(C) Maritime Recci plane

(D) Aircraft carrier

Ht guH YRAE 9 Yee YRdE ' § HIvmd

oA e ?

(A) HeweAr e

(B) sfer wedt

(C) Sf. SerHrEs eSH

(D) TER Jeayys 9o

ETTeTdeh! SHIUCT ST-d T ST

B AMTARIIERISR T SIS Tl 3T ?

(A) U

(B) Hemer™

(C) AE™

(D) STEOTEAIRT

T TeTush! ShIoTdl foarad |l Sgad a1

fagrarl wefyd sme ?

(A) B ffEsi

(B) 39 WU

(C) Ay dreed

(D) 3 Fdls

H-130 & & fome -

(A) g TR T IR o= 2af g
TR aRge faam e

(B) S WwHR faum o1

(C) Ar-Aeemardt e foaqm e

(D) foA™ aEqsr FOM RIS

[P.T.O.



“The desert was tacticians paradise
but quarter master’s hell”. Relate
the statement with the concerned

military campaign :

(A) The North African Campaign
(B) The Burmese Campaign

(C) The Battle of Kasserine Pass
(D) The Battle of Longewala

The 1945 Asian Relations Conference
was held in which city ?

(A) Bandung (B) Lahore
(C) New Delhi (D) Jakarta

During world war II Japanese
attacked on Pearl Harbour-American
Naval Base. Choose the correct

answer :

(A) 17th December 1941

(B) 7th December 1942

(C) Tth December 1941

(D) 17th December 1940

Who opined that “Geography is the

most fundamental factor in foreign
policy because it is the most
permanent ?”

(A) Nicholas J. Spykman
(B) Karl Haushofer

(C) Friedrich Ratzel

(D) Nayef Al Rodhan

JUN -16219/11—C

] TSI 5 TR0l LI SiErel
@ e W (FRX ARR) JgHTtae
ES FHIOAT HER THETAT S T
e, ¥ faum wioen wRd ARden
Hewld =g el Bid ?

(A) SR Al AEW

(B) o=@l HIEM

(C) ST fae= o=

(D) AR dRE

1945 \=Y 3TITAE o= Ufeg v

AT TSI hIvaTd 3Teit Bl ?
(A) =gn (B) @R

(C) &t feeelt (D) Sfehral

o foed ggr@ SO SR oe
g SR Todl hell Tl @

= feet

(A) 17 fedarR 1941

(B) 7 fedsR 1942

(C) 7 fedax 1941

(D) 17 fedaR 1940

e B TSI SRumHE e Fafa Jeryd
T 38, RO A Hald TR 3Te 3™
HUTE TG AE 2

(A) e S TEeRHA

(B) =Tt BRI

(C) Hheia T

(D) % A UUH




10.

11.

What is the name of the single-
engine fighter aircraft indigenously
developed and manufactured by
India to replace the old MIG-21
fighter aircraft ?

(A) Agni

(B) Tejas

(C) Prithvi

(D) None of the above

Which one of the following inter-
national treaties does not have
an implementing or verifying
organisation ?

(A) Nuclear Non-Proliferation
Treaty (NPT)

Chemical Weapons Convention
(CWCOC)

Biological Weapons Convention

(BWC)

Comprehensive
Treaty (CTBT)

The Nuclear Non-proliferation Treaty
(NPT) does not forbid ................. .

(A)

(B)

©)

(D) Test Ban

Transfer of nuclear weapons
and technology to non-nuclear
weapon states (NNWS)

(B) Testing of nuclear weapons

(C) Developing and testing inter-

continental ballistic missiles

(D)

Building a sophisticated nuclear
power programme

10.

11.
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f1-21 wers fommren T w=oE faa

~

2o 3Tl TR doaTel foehfad

ol B AeS fodE oA ?
(A) et
(B) W™
(C) et

(D) Sielieh! shiva= el

ETeATeTUeh! hToTed Tt (ShNT=) SHe-

IS0 o TSdTeaUlt ShivITATS! ShIvcTE!

YR eeA/IA0 e Arer ?

(A) STUTEYERER] I

(B) TH™{TeR IS et
(C) Sifoer y=med Gt
(D) TIHHEYF TSI hik

VYIRS HIRTE el hrAarer

FOAG TS HIUA STl AT

(A) STUEEHHRT TSEll 3TUEE § 39-
ETul

(B) STu=T=il

(C) STMEE SYUTET A= =of
forenfaa o

(D) TNy s wREieH qafau

[P.T.O.



12.

13.

14.

15.

16.

The International Atomic Energy
Agency (IAEA) safeguards are not
applied to the following types of
material :

(A) Uranium enriched above 25%
(B) Highly enriched uranium

(C) Plutonium

(D) High explosives

The United Nations Security
Council (UNSC) Resolution 1540 :

(A)
(B)

Criminalizes proliferation

Works towards a nuclear-
weapons free world

(©)

Verifies nuclear-weapons free
world

(D) Strengthens stability of nuclear

deterrence

India’s yearly defence expenditure
throughout the 1950s was not
above :

(A) 2.5% G.N.P. (B) 1.8% G.N.P.
(C) 3.2% G.N.P. (D) 4.2% G.N.P.
Which of the following countries first
introduced the concept of programme
budget ?

(A) Britain (B) USA.

(C) Russia (D) Australia
Choose the correct answer

India became a wave of a new threat
developing from across the northern
border in .................. .

(A) 1961
(B) 1959
(C) 1957
(D) None of the above

12.

13.

14.

15.

16.
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STASE 3TU] STl ST FREAT 91T
TEU[ YEieTdeh! IV TSTiel el el
& ?

(A) =9 25% Tem SRA AR

(B) S=aydrea FFFHET TR

(C) Ir=H

(D) AfTERIEh

1540 TIRA hell 3T &4 Jeia Tewaqul
EIE] Hleqbd cnU4ld \'HIQ’ﬂ 32”% :

(A) SUTEIEREEE TR
(B) AUEEHET S JAfUIATAES! T
ETU|

(C) SIS SHTTIeRit Tediesull shiul
(D) 3ftereh TeH i ST sHferor
1950 HEftel YRATE TOTEd @ &l
Tl T8 holed] ZRhaRIue S
FHIOAT ST AR

(A) 2.5% \_rﬁQT-['Cﬁ (B) 1.8% Trﬁ@"ﬁ
(C) 3.2% \_rﬁQT-['Cﬁ (D) 4.2% Trﬁ@"ﬁ
SIS STETSTUAhT= Teheq T

JUHA: RV QM q&faei 2

(A) fa (B) TR

(C) T¥mm (D) it
AT STYEHTCHh e ST GLaa
afregr {0 BId 3118 €T el <hIoTe! oo
freei e el 2

(A) 1961

(B) 1959

(C) 1957

(D) SdeTdeh! hIURr Tl




17.

18.

19.

20.

21.

“Whoever controls the Indian Ocean
will dominate Asia”. These words
were said by which person ?

(A) Admiral Mahan

(B) Jawaharlal Nehru

(C) Admiral Nelson

(D) General Douglas MacArther

Write the Indian name of MBT
T-90 Tank :

(A) Bhishma (B) Arjuna
(C) Yudhishthira (D) Nakula
NSC stands for :

(A) National Sea Council

(B) National Stock Council
(C) National Security Council
(D) National School of Commerce
NSG stands for :

(A) Natural and Solid Gas
(B) NATO Supporting Group
(C) National Sea Guards

(D) Nuclear Supplier Group

Write the following in right
chronological order :

(1) Annexation of Oudh
(2) Annexation of Burma
(3) Annexation of Punjab
(4) Annexation of Sindh
A QO @ 3 @
B @ B @2 @
e @ 3 1 @)
D 3 @ @ @

17.

18.

19.

20.

21.
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" R 2o T Sfea IR did Sffte
e ¥ 9 v wifae 2

(A) TefRa H8H

(B) SO Ag®

(C) TefRa dawH

(D) SR Sed HHSER

HIRAT TH.§.81.281-90 k=T A

ES LRI
(A) farsmr (B) 3
(C) Ifussu (D) TRl

. TE. 9. = fawia
(A) TIFe @ wSE

(B) ¥Mal Wi we-dia
(C) e HierRgiiel wrediet
(D) A Wha 6 HHH
NSG = fo=ia v fo@r
(A) To@ 3fe wifas 19
(B) NATO wuifém gu

(C) TeHer dt Meq

(D) AR TR Tq

(2) sey (o) foefiHihor w0
) RREICERENIRIETY

(4) fau= faefiemm

Aa 1 @ B @

B @ 3 @ @

) @ 3 @O @

D & @ @ @

[P.T.O.



22.

23.

24.

25.

26.

Which Indian lady is the first to
reach the rank of Lt. General in the
Indian Army ?

(A) Ranjana Chaudhary

(B) Punita Arora

(C) Nirupma Rao

(D) Nirmala Rai

Which of the following pairs is
incorrect ?

(A) G-15 Nations—Security Council
Members

(B) G-8 Nations—Developed and
Industrial

Nations

(C) G-77 Nations—Developing
Nations

(D) ASEAN Nations—Group of
South East

Nations

Which of the following lines
demarcates the boundary between
India and Pakistan ?

(A) Durand Line
(B) MacMahon Line
(C) Radclicff Line
(D) Majinet Line

In which of the following places
the National Defence College is
located ?

(A) New Delhi (B) Coimbatore
(C) Pune (D) Dehradun

Which one of the following is
regarded Individual Rights to
constitutional remedies as heart and
soul of our constitution ?

(A) B. R. Ambedkar
(B) Jawaharlal Nehru
(C) Mahatma Gandhi
(D) Rajendra Prasad

22.

23.

24.

25.

26.
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HIOT IRAE Afgeiall Ufecdl  IRdg
AR . ST § U8 Yufadl 3l ?
(A) T e

(B) gfar /T
(C) T&um &
(D) fAden =

TICAedeh! FIV SISl gehiel 38 ?
(A) Sf-15 T — G IHoR H9HE

(B) -8 T — Wa i siieaifie
RS

=

(C) Si-77 W — wfaelal TUse

(D) TREF TR — AT A
BRI

WTeteTdeht IOl IoM & 9Ra i

TifheamEia SAfiga FHReT g 2

(A) gl W

(B) WepHigd oM

(C) Efrrw T

(D) #HSiHe T

T e foenera @refierdent shiore

fommont R ?

(A) 7ot feeelt  (B) SR
(C) g0 (D) <
WeATeTUeh! 318 hIUT AT Bl ol SRl

HIHeh ST SRR B Wiaem g
aqfor e ofR ?

(A) 1. SR STESHT
(B) O8I Hg&
(C) weremr e

(D) TE 991




27.

28.

29.

30.

One of the effects of the end of the
cold war was the following :

(A) Massive process of disarmament
(B) New states were created

(C) US and Soviets became friends
(D) Process of Armament

What is Neo-realism ?

(A) An attempt to ignore the
unpleasant realities of the world

(B) An attempt to restate the basic
ideas of realism in a more
scientific form

(C) A claim that international
society is basically orderly and
peaceful

(D) A claim that individual human
nature is central to an under-
standing of International
relations

Which one of the following is not an
international organization as per the
definition given by Inis Claude ?

(A) United Nations
B) G-8

(C) SAARC

(D) NATO

The 1973 war between Israel, Syria
and Egypt is also known as :

(A) June War
(B) Tank War
(C) Night War
(D) Yom Kipper War

27.

28.

29.

30.
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IIgS THIT GIeieTiesh! Shiordl JrRomd
SATAT ?

(A) HISI IR YR

(B) Teid T IR STl

(C) 3TAfGR =g onfor Hifsgad &9

JreaTdied He el
(D) ST Yfhar & Al

TIIREdE USSR 2

(A) ST AT S gettard shiudT
LR

(B) SRETRT=A JAYd shedql §-al M
aifor 23tk SRATT+eh T AiS T
TIH

(C) STAWE A & gHareed 9
TAAEE 378 ST Sre ol

(D) Safe Al @YE @ A
Y FES ST Uichere Heaeedt
3ME 3T TTam Yol

SIEEs ct(dTS I foeedn FEATIR

TETATAdhT SRVl STARISSE  HEEA]

& ?

(A) FIH T

(B) -8

(C) 9=

(D) =

1973 7& zoRd, Tadan 9 sfiow amed

ISl S WA 7

(A) S Is

(B) TOMTEl ggusdE IS

(C) T el Ig

(D) I\ fFm g3
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31.

32.

33.

34.

35.

The NGO dedicated to the release
of political prisoners all over the
world is known as :

(A) Amnesty International
(B) Red Cross

(C) Human Rights Council
(D) None of the above

The origin of the modern nation
state system is associated with one
of the following :

(A) Congress of Vienna
(B) Treaty of Utrecht
(C) Treaty of Westphalia
(D) World War

Choose the correct answer.
During the reconnaissance and the
reformation there was a revival of
protest against inequality based on :

(A) Religion (B) Nationality
(C) Wealth (D) Gender

Who among the following stated that
“Geopolitics is a pseudo-science
creating the factor of geography into
an absolute ?

(A) Mackinder

(B) N.J. Spikman

(C) Carl Haushofer

(D) Hans J. Morgenthau

Which of the following is not the
method of resource mobilization
during the war ?

(A) Loan (B) Taxation
(C) Borrowing (D) Savings

31.

32.

33.

34.

35.
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S heaiedl Yehuld! Teierde]
IV R TR Fere (NGO) FRRd
e ?

(A) SIATE SeHIEA

(B) & %™

(C) el gk 9w

(D) aicisht SHIORET T

3MYFTeh TS2-T TG I TATeTdeh
el frfed s ?

(A) faem =i

(B) J2H HX

(C) SEHiT HI

(D) S IS

Fdreror mfo7 GAET SRl STHEEA

ArEreR. B oy §1 hImeR sTeia
Tqar ?

(A) = (B) U<HE
(C) Huil (D) fam
" TSI TEUTS! 3TH TS 318 ohl SoTHos

RYUl TR YASIRET=T Sk FHfHd
qd' g HIUT WA I ?

(A) Hfex

(B) TA. I TEHHA

(C) Tl MR

(D) &9 . =iy

GR!SO I5d o GBI
AR MfaHHa=T 9 T9ar 2
(A) &S

(B) fafay g&R= &

(C) SUR-3TTAR

(D) fafay vl s=d
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36. Expenditure on acquisition of assets | 36. ST WRET, SARG SEehT™, iU WRET
like land, building and machinery 3T HICTHAETS! Shedl STUTRT TlTefTeTueh!
would come under ambit of : Il FAEART Id 3TFal ?

(A) Capital receipt (A) HiEaa YT
(B) Aggregate demand (B) THel[ HRTUAT
(C) Capital expenditure (C) weael @4
(D) Revenue expenditure (D) wRYA T

37. Who coined about the efficient | 37. TX&UMER TR €= @l FAHd TGN
utilisation of defence expenditure in Hhedes A1 AL ST Bl 3 7a
the form of standing army ? gc‘oﬁlc'lﬁlchﬁl HIOT WSS 3R ?

(A) David Ricardo (A) SHIE Whiet
(B) Jean Baptine Say (B) A smafed |
(C) Adam Smith (C) 3feq fmy
(D) Malthus (D) wHagq

38. Who wrote the book entitled | 38. ‘ER&UTa s1efems’ § g vt fafee

“The Economics of Defence”. e ?
(A) Galbraith J. K. (A) freed 3. .
(B) Kennedy Gavin (B) 372t wfa
C) Kuithara Verghese
ED; Hitch Charlesg J. and Mekan (C) i =i
Ronald N. (D) fea =g S of~s A% Udfes W

39. Who coined the term “Cyber Space” ? | 39. ‘TSR WE' € R I el ?
(A) Lind Billgates (A) et faerey
(B) Sam Pitroda (B) ¥\ ==
(C) William Gibson (C) fafeaw firswA
(D) E. D. Sariton D) T . WeH

40. Which is not a psychological aspect | 40. FJIIId WICHUsh! IVl HHS Uel
of war ? qrEr ?

(A) Leadership (A) g
(B) Morale (B) Hferan
(C) Discipline (C) fera
(D) Military Technology (D) TR T
11 [P.T.O.



41.

42.

43.

44.

45.

46.

47.

Which one of the following members
are composed in the International
Court of Justice ?

(A) 15 members (B) 20 members
(C) 35 members (D) 50 members

In which year did Chernobyl
disaster take place ?

(A) 1989 (B) 1988
(C) 1985 (D) 1986

In 1978, Camp David Accords were
signed between ............ and ........... .
(A) America and Soviet Union
(B) Egypt and Israel

(C) Syria and Israel

(D) Egypt and Jordan

India shares its longest land borders
with :

(A) Pakistan (B) China

(C) Bhutan (D) Bangladesh
The term PGM stands for :

(A) Precision Guided Munition
(B) Poor Grade Munition

(C) Permanent Guided Missile
(D) Precision Guided Military

India has maritime boundary with
how many countries ?

(A) Seven (B) Five
(C) Six (D) Four

Which of the following is not a
member of the Cabinet Committee
on Security (CCS) ?

(A) Defence Minister
(B) Home Minister
(C) President

(D) Prime Minister

41.

42.

43.

44.

45.

46.

47.
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ETeieds! fodl TEE SATase
IS R ?

(A) 15 9q¥HH (B) 20 9

(C) 35 9 (D) 50 9=
eI NI o S G R [ M |
el ?

(A) 1989 (B) 1988

(C) 1985 (D) 1986

1978 & 1 SIS UH< Yeidl qH

TR &R H0A ST
(A) SRR onfor Hiegiug e

(B) 3wt efur s&mge

(C) fadien enfn zemga

(D) sfora sufor SfEA

TeATeTeh! ShIUTCHT IO MRATE! Haid
Sd G AN 3 ?

(A) TifeREa™ (B) =M

(C) YeH (D) STAIRET

. S . & Hheddl BN

A) Tufgem mEes Fiewm

(B) IR g M

(C) THHe MESe faarEa

(D) Tafgaa mEes fafaed
WA= IR ST fohelt SYMeRIsR e
Sed ?

(A) 7 B) 5

) 6 D) 4

TeiteTdsht hIv [ReffasEs  Hfeme
e 959 A9l ?

(A) TReTor Hf

(B) THA

(C) Tregut

(D) YagE™

12
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48. Which International Convention | 48. Ul RIS fIHEGIER <M
applies to territorial waters and LI EE IS KN w fafaa &=
maritine zones of a country ? MHfYed &el Saa ?

(A) Kyoto Protocol (A) T ARIhidA

(B) MARPOL (B) TH. 3. IR . A TH.
(C) UNCLOS (C) . T H. uwd. 3. T
(D) SLOC (D) TWH. TA. . H.

49. Which one of the following is an | 49 Erefieie SOt 3TI] & e

Industrial Disaster ? SR Heua SR ?

(A) Tsunami 2004 (A) W 2004

(B) Uttarakhand Disaster (B) SWrEe Jo0idd ATt
(®)) Bhopal Gas Tragedy (®) ﬂﬂtﬂa‘ a‘rq\ J|ooqq|q'\| gbfdﬂ|
(D) Nepal Earthquake (D) SUTTHETA ﬂf:h‘q

50. SAARC Disaster Management | 50. gehd 3TYcl SHIEATYT e ¢ AT TSR0l
Center is located at : R :

(A) Dhaka (B) New Delhi (A) T (B) &t feoet
(C) Thimpu (D) Kathmandu (C) formg (D) HSHE

51. At the end of 1962 war, China REA) ORI
occupied large part of which Indian o1 ;g%?w S ;?:Ej“ ﬁf ST ST 2
territory ?

(A) Aksaichin (A) 313?@%137{ .
(B) Siliguri Corridor (B) HIQ:HU,S,l SISl
(C) Yatung Valley (C) =g =it

(D) Chumbi Valley (D) et ==eft

52. Which one of the following is | 52. TReTUREHaEd @elclieh! RISl A=t
Ricardo’s contribution to defence FHIMESE AEH ol 3T 2
expenditure ?

(A) Prohibitive tariff policy (&) TNg ST e
(B) Military taxation (B) @Y HX HoMd
(C) External sources of finance (C) =fémd et wrd
(D) How to raise finance wars (D) '{L@'ﬁ%ﬁ FHUT Thedd HIE
53. Britain economic blockade of | 53  atfeemaficn foeT SRR efdle Aehsicr
Germany was made official in : Fell .
(A) March 1912 (A) ¥€ 1912
(B) March 1913 (B) 9 1913
(C) March 1914 (C) #rd 1914
(D) March 1915 (D) #€ 1915
13 [P.T.O.



54.

55.

56.

57.

58.

59.

National Disaster Response Force
(NDRF) consists of how many
battalions ?

(A) 12 (B) 17

(C) 25 D) 27

Who was a key proponent of strategic
bombing in aerial warfare ?

(A) Giulin Doh Douhet
(B) L.B.H. Liddle Hart
(C) Mao Zedong

(D) None of the above

Wars that seek to culture political
power through armed struggle are
described as :

(A) Insurgency

(B) Revolutionary War

(C) Civil War

(D) Terrorism

United Nations ‘United for Peace’
Resolution was adopted in the
background of which international
crisis ?

(A) India-China War

(B) Korean War

(C) Cuban Missile Crisis

(D) Arab-Israel War

When did India announce ‘look east

policy’ ?
(A) 1991 (B) 1992
(C) 1993 (D) 1994

When did the UN Millennium
Development Goals end ?

(A) 2014 (B) 2015
(C) 2016 (D) 2017

54.

55.

56.

57.

58.

59.
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T3 fegfex Reai=g wd (NDRF) =

fordt serfaem 3med 2

(A) 12 (B) 17

(C) 25 D) 27

gaTs ggTiel A i’ a1 Jgaam
TR IV 3Ted ?

(A) fe= <R <Ea

(B) Ta. . TH. oed @

(C) ==Al Sfef1

(D) Stk HITREr &

TeAtedehl IO JEUSATA  Tsh]
TES=AT qE TSTeh 1 Il el o
Th 9 HHAA S ?

(A) faereare

(B) wifdsrl I§

(C) T Is

(D) <=RIAd]

‘TiaaESt T w1 oUd SRSk
SOl FEOT= Ao URad  Hiodd
3T ?

(A) RG-S g%

(B) ®IfET g3

(C) =gaT=n YUTE Fersl

(D) 3TS-TEEA TG

AT ShIVT Heh ' Teh 38 HRUI SER
& ?

(A) 1991 (B) 1992

(C) 1993 (D) 1994

J AT fhfat=d Sxadie Tieq Fe
quet ?

(A) 2014 (B) 2015

(C) 2016 (D) 2017
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60. Which one of the following is not a | 60. WIcilciUeh! hHIUT Sk & FL&IUMET T
determinant of defence expenditure ? Truifa eoamht gefoa - ?
(A) Leadership (A) Ag
(B) Ideology (B) fo=mem
(C) National Power (C) T et
(D) Public enterprises like post (D) HESAeh HTEIad S8 ki G
office TfRg
61. Which. one ofifhe following is known 61, ‘O Bor’ EEERET FI A 2
as Laissez faire ?
(A) Right to interfere (A) FEIEET o
(B) A policy of Non-interference by (B) TS TGl S&A&d hIuars et
the state (C) <RI Twe A& EWe™ s
(C) Let individuals be not left alone T
to do what they like
(D) None of the above (D) =Rt et
62. What is ‘format war’ related to : 62. IS Fg¥ A TURC ?
(A) Competition for market (A) HEheHE gEEEr Tl
dominance (B) st e
(B) Online gamms ©) 7= ot T
(C) Proper formation of war
D) Type of software to deal with (D) I Sedl Fehtdl Hifedi= sheie)
fake news during war time TR HITFRR
63. Choose the correct answer on “FAKE | 63. ‘@l a@dt’ I@eR e W Hae! :
NEWS™ - (A) Tygesn wsRIRam=n 9 3mg
(A) Itis atype of yellow journalism . A .
(B) It is a neologism often used to (B) FIEl SAHIEGT THT HITIHS
refer for fabricated news Fefenfieme]. X
(C) Itis also known as pseudo news (C) GEI sradn R
il Tacobaok change tho toms | () T A 2o e %
into fake news el SqHET JhR
15 [P.T.O.



64.

65.

66.

67.

68.

Which of the following does not
include in Malware ?

(A) Phishing (B) Spyware
(C) Viruses (D) Worms
................... type of software designed

to gain unauthorised access or to
cause damage to a computer.

(A) Ransomware
(B) SQL injection
(C) Malware
(D) Stuxnet

Which of the following softwares is
mainly designed to extort money ?

(A) Malware (B) Stuxnet
(C) Ransomware (D) Norton

the practise of sending

fraudulent e-mails from reputable
sources.

(A) E-mail spam
(B) Junk mail

(C) E-mail bomber
(D) Phishing

UNMOGIP was established for
which two countries ?

(A) India-Pakistan (Kashmir)
(B) Russia-Georgia (Abkhazia)

(C) Azerbajan-Armenia (Nagorno-
Karabakh)

(D) None of the above

64.

65.

66.

67.

68.
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e’ T& Weliciish! iUl FHe
T ?
(A) e (B) TR
(C) aPRAw (D) =Y
TURTY HTETHEY TSYedl  SATUUIETS

ShITT oeda= Hed faaT 9t Jag

hell STl ?

(A) TTEHIR

(B) TH. F. TA. IIHRM

(C) AT

(D) e

T TUH IVl FFRAIR TG hl
AR ?

(A) HreToRR (B) TR

(C) TEFR (D) R
foenyy@ FUR SHoE el STel
SHAT ¢

(A) A T

(B) S "

(C) A SR

(D) I

0. TH. 3.7 3TE. . ShIvree S Tegied
EIfod greft ?

(A) 9RI-TIfehd™  (HIRTHR)

(B) Iferen-<iRsiian (sToeheian)

(C) AATIAATT-JTRFIT (ATMTAT-
HATE )

(D) a{ieTueht ATEr

16



69.

70.

71.

72.

73.

Durand line is between which 2
South Asian countries :

(A) India-Pakistan
(B) Pakistan-Afghanistan
(C) India-Bangladesh

(D) India-Nepal

UNFICYP was a peace-keeping force
was created for which country ?
(A) Cyprus

(B) Greek

(C) Turkey

(D) None of above

UNIKOM was established to
monitor the demilitarised territory
of which two countries ?

(A) Irag-Kuwait

(B) Iraq-Iran

(C) Pakistan-Afghanistan

(D) India-Pakistan

Who coined the term cold war ?
(A) Truman

(B) Walter Lippman

(C) Ronald Regan

(D) Bernard Baruch

SASE stands for :

(A) Snow Avalanche Study
Establishment

(B) South Asian Snow
Establishment

(C) South African Studies on
Environment

(D) Snow and Strategy Establishment

69.

70.

71.

72.

73.
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e T & Hven 2 <o sfvrErg
WS R

(A) HRA-ITfeR&I

(B) Uifeh&aM- TR
(C) ARA-TTARIT

(D) AR

ha¥ o

RV TSITEIS! Tt |1 A . TH.
Th. 3. 9. 9. W. sael et ?
(A) IE9Hq

(B) =%

(C) T
(D) aleTueh! el

FATRM TA e AT STRIIQ
HITd B ?

(A) TF-F3a

(B) =eh-301

(C) Ifeh&i-SThIT&IH

(D) wRaA-TTfeR&

‘3fd g5’ & G HION ARet ?
(A) T

(B) dreX feradq

(C) s fom

(D) =FiE a&h

TH. T TH 3. WS & ?

(A) I o= Tl THIANHE
(B) T3y WIEA & THARTHS

(C) T=Y MHiehT LIS A FAoRHE

(D) = o gmies THeTsAIeHe
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74.

75.

76.

77.

78.

“War is thus an act of force to compel
our enemy to do our will.” The above
statement’s author is :

(A) Carl Von Clausewitz

(B) Harold Mackinder

(C) Hans J. Morgenthau

(D) Henry Kissinger

The Chechens are an ethnic minority
living in the region of ................ .
(A) Kalahari

(B) North Caucasus

(C) Alps

(D) Hainan

Soviet generally used this phrase to
convey the meaning of detente :

(A) Imperialism

(B) Relaxation of tension
(C) Perestroika

(D) Massive retaliation

Under which ministry does the
Indian coastguard operate :

(A) Ministry of Home Affairs
(B) Ministry of External Affairs

(C) Ministry of Commerce and
Industry

(D) Ministry of Defence

“Operation Parakaram” refers to
military deployment at ................. .

(A) India-Bangladesh Border
(B) India-China Border

(C) Siachin Glacier

(D) India-Pakistan Border

74.

75.

76.

77.

78.
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Jg RS IR AT SINER I
01 IR QY B 7 faum geterdent
ST TAWHM el g 2 AT qAF
aer

(A) =Td =/ FASIOS

(B) wlee HfheX

(C) &=\ SI. Hifen

(D) &4 fRdR

99 B TSH AqEEAE e e
JEicTish! IV Waid &l ?

(A) FHeRr

(B) 3W HihI™

(C) ATeTH

(D) =&AH

Saraen 31ef T Sifesud EmER: o
YT aTR Hid Bl

(A) FHTER

(B) TUME AT 0]

(C) WEIEHT

(D) SeREE GcATeTd

TR TeLIF T Rl HATAITAT
¢ IS ~
AT FE Hd 7

(A) & HAH

(B) T WA

(C) =forsa =7feT IR HAA
(D) TR&U HAE

(C) Foa=" fER

(D) YRA-uIferea™ &
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79. “Security can be approached” both 79. oo amfor SReT e gfeedm w o
objectively (there is a real threat) )
and subjectively (there is a perceived w2
threat). Who said the above (A) TS IWH
statement ?
(A) Raymond Aron (B) w7 wlSt
(B) John Mroz ) 3. 99
(C) K. Booth .
(D) STARE Alehy
(D) Arnold Wolfer’s
80. Which regime was toppled in | 80. 2001 H& BN ShIV Tl TS
Afghanistan during 2001 ?
(A) Taliban it 2
(B) Al-Qaeda (A) e (B) TA-hIRT
(C) Northern Alliance (©) sEE T (D)
(D) Hekmatyr
81. In the context of Indo-Pak relations | 81, YrRd-Yer Teumdict 3T TR e
identify the following events in a
chronological order : (A) Tq¥HE FR, ToRiA IR, Faaen
(A) Tashkent Agreement,
Panchsheel Agreement, Shimla F, SRR o
Agreement, Lahore Declaration (B) Tl TR, SER S, e
(B) Shimla Agreement, Lahore
Declaration, Panchsheel P, qhe HR
Agreement, Tashkent Agreement )
(C) Panchsheel Agreement, Tashkent (C) WeRid I, Ahs FW, faman
Agreement, Shimla Agreement, R, TER S
Lahore Declaration
(D) Panchsheel Agreement, Shimla (D) Y=Rie IR, faden R, aveHe
Agreement, Tashkent Agreement,
Lahore Declaration FIR, TARR HEOM
19 [P.T.O.



82.

83.

84.

85.

Match the military activities given
in List I with their military code
name given in List II. Choose the
appropriate code :

List I
Integration of Hyderabad into
Indian Union
Integration of Goa into Indian
Union
Liberation of East Pakistan
Clearance of Terrorists from
Golden Temple

List II
Op Polo
Op Vijay
(3) Op Cactus Lity
(4) Op Blue Star
Codes :

(a)

(A) (1)
(B) 2)

(@)
()

(c)
(d)

(1)
(2)

® © (@

2 3 @

3 @ 3

< 3 2 1O @

D @ 1 @ @

‘Garden Reach Workshop’ deals
with :

(A) Aircraft production

(B) Missile production

(C) Tank production

(D) Ship building

What type of missile is Ashwin ?

(A) Intercontinental Ballistic
Missile
(B) Advanced Air Defence

Interceptor Missile
(C) Cruise Missile
(D) Anti-Tank Missile
What is the purpose of ISPS code ?
(A) Prevent smuggling
(B) Security of ships and ports
(C) Promote import/export
(D) Administration of maritime
fixed assets

82.

83.

84.

85.

JUN -16219/11—C

T R [ HEd fociedn oo shifaTal=n
ST TR 11 T foeien aTshil diehfeh
SICICHEESICDIIS Tl

qrat hHieh 1
TSUEREE IR TSI
IESEIETY
AT eI Meard shad
IESEIETY
(c) T8 wifeh&am=n Hfermaumd
(d) gav AT IeeaeredTan AEe

(@)

®)

il shaieR 11
(1) 219. el
(2) 9. fas=
(3) 9. HheHfael
(4) 3. =] ¥R
Hehdich :

(@ ) © @@
Ao @ 6 @
B 2 B ©@ O
© B @ O @
D) 4 1) @ @
‘e = wrERTe’ § kel fAifed
g ?

A) famam fafdadt
(B) Suumey fafidt
(C) Yormer fAfHdt
(D) STErsl Aol

3f¥eT T YU hIU JehId AISd 2
(A) @S JO U
(B) MYk a1 TX&IU TaIee S9umest
(C) Tes el &ons
(D) TORTET Yfdeeer  S9umE
;Tg. 171'&[ . TH. A1 HISal 3T HA
E%; TR T

STl 9 S5l ATl IS
(C) amm—ﬁzr—cranaﬂw%'oﬁ

(D) 9HZALEUY TATIX HIAHT <A1
SEATAATETS!
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86. PPBS means : 86. Wi TE. WIS

(A) Policy Planning Bureaucracy
System (A) Tifer wfT SRw fae

(B) Planning Programming " )

Budgeting System (B) wifi wnnfan ssem faem

(C) Programming Planning- ST -
Budgeting System (©)

(D) golicy Planning Budgeting (D) s e S o
ystem ~ ¢ _n

87. “Silent Spring” is a book written by 87. '‘WEere BT F THE T q:'“'“'

Rachel Carson, theme of book is fetfectl e Heg dw &1 q&ashrel %

about : AR ?

(A) Adverse environmental effects (A) Tead TAfRIHed Thaey AT
of 'il}(;liscriminate use of Ffewhife I % TEEe
pesticides

(B) SRR CCIEEEY

(B) About second world war a = PR

(C) About Osama Binladen killing © . q“qjq“ T{wﬂli't'\qm

(D) Adverse effects of indiscriminate (D) \'Hf’qH P A SSTRIHIS x5t
use of social media SILESINGIEICE

88. Statement—(1) e-governance means | 88. I8M—(1) 3-IMHT U A ECLE L
government of internet. fHEM— (2) -3 T80 ST SR

Statement—(2) e-governance means ~ c o

use of technology by government to TR RS

perform its duties. (A) fagm (1) IR =

(A) Statement No. 1 is correct (B) faum (2) s{&R =R

(B) Statement No. 2 is correct ©) M (1) i (@) ¥ g9 e

(C) Statements 1 & 2 are wrong -

(D) None of the above (D) . :

89. Digital Revolution is known as : 89. fesied Fdl FHma ’E I 2

(A) Second Industrial Revolution (A) TE AT Il

(B) Third Industrial Revolution (B) faer siresnfirss it

(C) Both (A) and (B) are correct (C) o= (A) 37for (B) SR 3%

(D) None of the above (D) aAURT HIORTET AN
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90.

91.

92.

93.

94.

Who is the author of the book “The
Third Industrial Revolution” ? How
lateral power is transforming
energy, the economy and the
world ?

(A) Jeremy Rifkin

(B) Nicholas Georgescu-Roegen
(C) Stephen Jay Gould

(D) None of the above

Which of the following is not the type
of cyber security attacks ?

(A) Man-in-the middle

(B) Denial of service

(C) Cross-site scripting

(D) SQL rejection

Choose the correct answer :

(A) Social media is all about
sharing personal news between
computer and human

Social media is all about
communication

Social media is about sharing
information

Social media is all about
sharing personal privacy
Scientific method use of computer to
store, retrieve and transmit infor-
mation is called :

(A) Data storage

(B) Machine data

(C) Information technology

(D) Communication technology
Method used to transfer information
to far of places instantly is called :
(A) Electromagnetic communication
(B) Telecommunication

(C) Radio communication

(D) Scientific communication

(B)
(®)

(D)

90.

91.

92.

93.

94.
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‘T 92 TeRNT RaeEm; wel o

qrek 97 ZERITHT Ssi, § SR TS

T dce, IS @ i 7

(A) St Rt

(B) T Sisiean!-UsH

(C) T=® i3t e

(D) aXIAush! HITRET &

YR GRA Tiell feaiel YR ATEr

(A) F-g-3-fHfea

(B) fem@ i &«

(C) HYE-HES TR

(D) T8 ], TA. FowRE

TR IW myy/fHaer

(A) FT ST FIUEhTHE TS gitesh™
TR FIAEES AR A==
ST

(B) WIS WAt § Th d9h QS

(C) arHIfSTeh HIEaH § ek Hifed! 2T
a3’

(D) rIfSieh WIeAHl § U AfRATd
T el HIvATEs T 3Ty
IMEAIGAER. QTR R, ReEg
anfor grafhe Oifedien 19 a2

(A) BRI VRS

(B) wRfH e

(C) wfedt T

(D) 99 TRE

et e TSATAIS! hotel Tgaetl 3
FRUIAld

(A) SO Hifedt

(B) et Hfedt

(C) e mrfedt
(D) 9E=<I%ie Hifed
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95.

96.

97.

98.

99.

In the conflicts in Kuwait (1991),
Serbia (1999) and Iraq (2003), which
country’s military technology proved
superior in the battlefield :

(A) American technology
(B) Russian technology
(C) French technology
(D) German technology

The concept of revolution in Military
Affairs became popular after :

(A) 1991 Gulf War

(B) 1969 Vietnam War

(C) 1979 Afghanistan War

(D) 1971 Indo-Pak War

Military technology with enormous
destructive capacity is becoming
available to which states ?

(A) Strong states

(B) Weak states

(C) Super power states
(D) All states

Who said
conquered” ?
(A) Napoleon

(B) Shakespeare in Julius Caesar
(C) Admiral Nelson

(D) Hitler

Which of the following years India
liberated Goa from the Portuguese ?
(A) 1948 (B) 1968

(C) 1961 (D) 1960

“I came, I saw, 1

100. What is the exact strength of G7 at

present ?
(A) 7 members (B) 8 members
(C) 6 members (D) 5 members

95.

96.

97.

98.

99.

100.
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FHad (1991), T (1999) 30T 3k
(2003) =1 GEUHEY ShIvc ST Tohd
TATH UL gad el ?

(A) TaReA T

(B) WiEH T1E

(C) %9 TN

(D) ST TEH

TSRl i B Heheudl el TR ad
greft ?

(A) 1991 @rEt g8

(B) 1969 oM I

(C) 1979 ARTH I

(D) 1971 9RA-UIfR&H I

AR AR (AL IR &THal hIvTd
T et 3y ?

(A) TR T

(B) &H%RAd T

(C) RS T

(D) STl

Y HIv T ‘I oA@l, W uifect, H
FES del| ?

(A) =iferA

(B) SeRueRy Sfcrad-Heas

(C) TSI Howd

(D) feeer

IR TaTe Sl Ui R
fHarett 2

(A) 1948 (B) 1968
(C) 1961 (D) 1960
T -7 9 99 fhdl ?
(A) 79 (B) 8 9s¥H¥
(C) 6 & (D) b5 WH
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ROUGH WORK
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